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AGRICULTURE & HORTICULTURE  
GS (18.04.2021) 

 

1. Transfer of learning refers to  
a. Forget after learning   
b. Remember after learning  
c. Use of learnt knowledge in the learning of new things  
d. It’s not possible  
e. Answer not known 
fw;wy; ghpkhw;wk; vd;gJ 
a. fw;w gpwF kwe;J tpLtJ 
b. fw;wgpd; epidtpy; nfhs;tJ  
c. Gjpa tp~aj;ij fw;w mwptpy; gad;gLj;JtJ  
d. rhj;jpakpy;iy  
e. tpil njhpatpy;iy  
 

2. The Credit Authorisation  Scheme introduced by 
a. International Monetary Fund  b. Reserve Bank of India  
c. Commercial Bank    d. Exim Bank 
e. Answer not known 
fld; mq;fPfhu jpl;lj;ij mwpKfg;gLj;jpaJ vJ?  
a. gd;dhl;L gzepjp epWtdk;   b. ,e;jpa hprh;t; tq;fp  
c. tzpf tq;fp    d. vf;]pk; tq;fp  
e. tpil njhpatpy;iy  

 
3. Accuracy of scientific  knowledge is enhanced through 

a. Direct observation    b. Experimental observation 

c. Indirect observation   d. Inferential observation  
e. Answer not known 
mwptpay; mwptpd; Jy;ypaj;ij Nkk;gLj;JtJ  
a. Neub cw;WNehf;fy;   b. Nrhjid cw;WNehf;fy;  
c. kiwKf cw;WNehf;fy;   d. mDkhd; cw;WNehf;fy;  
e. tpil njhpatpy;iy  

 
4. Consider the following statement: 

1. India buys Eighth position in terms of nominal Gross Domestic product 
among the world economy 
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2. India buys third in terms of purchasing power parity among the world 
economy 

3. UGANDA is included in G-20 
4. Highest internet users in the world is China as per 2017 statement 
Among these, which of the statements are correct?  
a. (1) and (2) only  b. (2) and (3) only  c. (2) and (4) only  
d. (4) only   e. Answer not known 
gpd;tUk; $w;iw ftdp:  
1. cyfg; nghUshjhuj;jpy; nkhj;j cs;ehl;L cw;gj;jpapy; vl;lhtJ ,lj;ij 

,e;jpah ngw;Ws;sJ.  
2. cyfg; nghUshjhuj;jpy; thq;Fk; rf;jpapy; ,e;jpah %d;whk; ,lj;ij 

ngw;Ws;sJ.  
3. cfhz;lh> G-20 y; Nrh;f;fg;gl;Ls;sJ. 
4. 2017-y; fzf;nfLg;gpd;gb cyfj;jpNyNa rPdh mjpf ,izajs Nrit 

gadh;fs; nfhz;Ls;sJ.  
NkNy fz;ltw;Ws; vit rhpahd $w;Wfs;  
a. 1 kw;Wk; 2 kl;Lk;    b. 2 kw;Wk; 3 kl;Lk;  
c. 2 kw;Wk; 4 kl;Lk;   d. 4 kl;Lk;  
e. tpil njhpatpy;iy  

 
5. The colour of light that travels through glass with minimum speed is  

a. Violet  b. Blue  c. Red  d. Green e. Answer not known 
xspapy; ve;j> epwk; fz;zhb topahf Fiwe;j Ntfj;jpy; nry;Yk;?  
a. Cjh  b. ePyk; c. rpfg;G d. gr;ir  e. tpil njhpatpy;iy  
 

 
6. The measures of tenancy reforms pertain to  

1. Regulation of rent 
2. Security of tenure 
3. Ownership rights for tenants 
4. Ceilings on land holdings 
a. (2) and (3) only    b. (1) and (2) only  c. (2), (3) and (4) only 
d. (1), (2) and (3) only  e. Answer not known 
Fj;jif rPh;j;jpUj;jq;fspy; Nkw;nfhs;sg;gl;l eltbf;iffSld; 
njhlh;Gilait  
1. thlif fl;Lg;ghL 
2. Fj;jiffhy ghJfhg;G  
3. Fj;jiffhuh;fspd; chpikfs;  
4. epy cilik cr;rtuk;G  
a. (2) kw;Wk; (3) kl;Lk;     b. (1) kl;Lk; (2) kl;Lk; 
c. (2), (3) and (4) kl;Lk;   d. (1), (2) kw;Wk; (3) kl;Lk;   
e. tpil njhpatpy;iy  
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7. Assertion : The hardboiled egg and raw egg can be distinguished on the  
          basis of spinning of both  
Reason  : The moment of inertia of hardboiled egg is more as compared  
     to raw egg. 
a. Both Assertion and Reason are true and Reason is the correct explanation 
 of the Assertion 
b. Both Assertion and Reason are true and Reason are true but the Reason is 
  not correct explanation of the Assertion 
c. Assertion is true but the Reason is false  
d. Assertion is false but the Reason is true 
e. Answer not known 
$w;W:   fbd> Ntf itj;j Kl;il kw;Wk; %y Kl;il ,uz;ilAk; 
   Row;Wtjd; mbg;gilapy; NtWgLj;jyhk;.  
fhuzk;:  fbd> Ntf itj;j Kl;ilapd; rlj;Jt jpUg;Gjpwd; %y  
   Kl;ilapid tpl mjpfk;  
a. $w;W kw;Wk; fhuzk; rhp> fhuzk; $w;wpw;fhd rhpahd tpsf;fk;  
b. $w;W kw;Wk; fhuzk; rhp> $w;wpw;fhd rhpahd tpsf;fky;y  
c. $w;W rhp Mdhy; fhuzk; jtW  
d. $w;W jtW Mdhy; fhuzk; rhp  
e. tpil njhpatpy;iy  

 
8. Consider the following statements related to the Growth of population in 

underdeveloped nations: 
1. Low savings due to high level consumption expenditure 
2. It destroys the natural resources 
3. It stimulate greater productivity and savings 

Select the correct answers by using the codes: 
a. 1 only b. 2 only c. 1 and 2  d. 2 and 3 e. Answer not known 
gpd;jq;fpa ehLfspy; fhzg;gLk; kf;fs; njhifg; ngUf;fk; Fwpj;j fUj;Jfis 
ftdj;jpy; nfhs;sTk;  
1. mjpf Efh;Tr; nrythy; Nrkpg;G FiwfpwJ.  
2. ,aw;if tsq;fs; mope;J NghFk; mstpw;F gad;gLj;jg;gLfpwJ.  
3. mjpf cw;gj;jpj; jpwd; kw;Wk; Nrkpg;ig Cf;Ftpf;fpwJ.  
FwpaPLfisg; gad;gLj;jp rhpahd tpil fhz;.  
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 3 
d. 2 kw;Wk; 3  e. tpil njhpatpy;iy  

 
9. The salt formed by the combination of the mixture of solutions of two simple 

salts and which lose identity of the salts from which it is formed. 
a. Complex salt   b. Double salt  c. Mohr’s salt    
d. Alkali salt   e. Answer not known 
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,U vspa cg;Gf;fiury;fis fye;J fpilf;Fk; cg;ghdJ> vjpypUe;J 
cUthf;fg;gl;lNjh> mt;Tg;Gf;fspd; jdpj;jd;ikia ,of;fpwJ. ,JNt  
a. mizT cg;G   b. ,ul;il cg;G  c. Nkhh; cg;G  
d. fhu cg;G    e. tpil njhpatpy;iy 

 
10. The programme which was launched in 2005-06, to provide basic amenities 

and infrastructure to rural India is called as : 
a. Pradhan Mantri Gram Sadak Yojana 
b. Bharat Nirman and Rural Housing 
c. National Rural Livelihood Mission 
d. National Rural Health Mission 
e. Answer not known 
2005 – 2006 k; Mz;by; njhlq;fg;gl;l> fpuhg;Gw ,e;jpahTf;F mbg;gil 
trjpfs; kw;Wk; cs;fl;likg;ig toq;Ftjw;fhd jpl;lk; vd miof;fg;gLtJ  
a. gpujkhpd; fpuhk rhiyj; jpl;lk;  
b. ,e;jpa fl;Lkhdk; kw;Wk; fpuhkg;Gw tPLfs;  
c. Njrpa fpuhkg;Gw tho;thjhug; gzp 
d. Njrpa fpuhkg;Gw Rfhjhug; gzp  
e. tpil njhpatpy;iy  

 
11. What is the nitrogenous waste excreted by shark? 

a. Trimethly lamine oxide  b. Tetramethy lamine oxide 
c. Dimethy lamine oxide   d. Monomethy lamine oxide 
e. Answer not known 
RwhkPd; ntspNaw;Wk; iel;Nuh[pdpaf; (Nitrogenous) foptpd; ngah; vd;d? 
a. biukPj;njy; mikd; Mf;irL  b. nll;uhkPj;ijy; mikd; Mf;irL 
c. ilkPj;ijy; mikd; Mf;irL d. NkhNdhkPj;ijy; mikd; Mf;irL 
e. tpil njhpatpy;iy   

 
12. Purpose of Agricultural Producers Co-operative marketing society is 

1. Sale of agricultural products at higher price 
2. Produce pledge loan for agriculturalist’s maximum amount of loan 
3. To create comfortable market zone 
4. To preserve the goods 
a. 1 correct  b. 1, 2 correct   c. 1, 2, 3 correct  
d. 3, 4 correct  e. Answer not known 
tptrha cw;gj;jpahsh; $l;LwT tpw;gid fofj;jpd; Nehf;fk;  
1. tptrha cw;gj;jp nra;j nghUl;fis mjpf tpiyf;F tpw;gid nra;tJ  
2. cw;gj;jpapd; nghUl;fspd; mjpfgbahd fld; toq;Fjy;  
3. nrsfhpakhd tpw;gid re;ijia nra;jy;  
4. nfl;L Nghfhky; nghUs;fis fhg;gJ. 
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a. 1 kl;Lk; rhp   b. 1, 2 kl;Lk; rhp  
c. 1, 2, 3 kl;Lk; rhp   d. 3, 4 kl;Lk; rhp  e. tpil njhpatpy;iy  

 
13. What is rancidity?  

a. Decaying of carbohydrate   b. Decaying of protein  
c. Decaying of fruits    d. Decaying of lipids   
e. Answer not known 
Crpg;Nghjy; vd;why; vd;d?  
a. khTg; nghUs; mOfpg;Nghjy;   b. Gujq;fs; mOfpg;Nghjy;  
c. goq;fs; mOfpg;Nghjy;    d. nfhOg;Gfs; mOfpg;Nghjy;  
e. tpil njhpatpy;iy  

 
14. Which of the following is wrongly matched? 

a. Swachh Bharat Abhiyan   - Urban and rural areas 
b. Amrut Scheme     - Municipal corporation 
c. NEEDS      - Micro, small and medium enterprises 
d. Pradhan Mantri Fasal Bima Yojana - Environment 
e. Answer not known 
gpd;tUdtw;Ws; vJ jtwhf ,izag;gl;Ls;sJ?  
a. ];tr; ghuj; mgpahd;    - efh;g;Gw kw;Wk; fpuhkg;Gwq;fs;  
b. mk;Uj; jpl;lk;     - efuhl;rp epWtdq;fs;  
c. NEEDS (ePl;];)     - FW> rpW kw;Wk; eLj;juj; njhopy;fs;  
d. gpujhd; ke;jpup gry; gPkh N[hdh  - Rw;W#oy;  
e. tpil njhpatpy;iy  

 
15. Which among the following is regarded as the leading cause of air pollution? 

a. Agriculture     b. Warfare 
c. Mining and Construction  d. Motor Vehicle Emissions  

e. Answer not known 
fPo;f;fz;ltw;Ws; fhw;wpd; khRghl;Lf;F nghpJk; fhuzkhf ,Ug;gjhf 
fUjg;gLtJ vJ?  
a. Ntshz;ik      b. Nghh; gapw;rp  
c. fdpk Ruq;fq;fs; kw;Wk; fl;Lkhdk;  d. thfd Gif ntspaPL   
e. tpil njhpatpy;iy  

 
16. The value of a motor cycle 2years ago was `70,000. It depreciates at the rate of 

4%p.a. Find its present value.  
a. 65312  b. 64312 c. 64512 d. 65412  e. Answer not known 
 ,U rf;fu thfdk; xd;wpd; tpiy 2 Mz;LfSf;F Kd; 70>000-Mf ,Ue;jJ. 
mjd; kjpg;G Mz;L NjhWk; 4% tPjk; FiwfpwJ. mjd; jw;Nghija 
kjpg;igf; fhz;f.  
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a. 65312  b. 64312 c. 64512 d. 65412  e. tpil njhpatpy;iy  
 

17. A sum of `46,000 was lent out at Simple Interest and the end of 1year and 9 
months, the total amount was `52,440. Find the rate of interest per year. 
a. 5%  b. 6%  c. 7%  d. 8%  e. Answer not known 
mry; ì 46>000 MdJ 1 Mz;L 9 khj fhyj;jpw;Fg; gpwF jdptl;b %yk; 
nkhj;jj; njhifahf ì  52>440-Mf cah;e;jJ vdpy; tl;b tPjk; fhz;f.  
a. 5%  b. 6%  c. 7%  d. 8%  e. tpil njhpatpy;iy  

 

18. The cost of a machine is `18,000 and it depreciates at 16
2

3
% annually. Its 

value after 2 years will be 
a. `12,000 b. `12,500 c. `15,000  d. `16,500  e. Answer not known 

Xh; ,ae;jpuj;jpd; tpiy ` 18>000 mJ Mz;Lf;F 16
2

3
% tPjk; Nja;khdk; 

milfpwJ.  
a. `12,000 b. `12,500 c. `15,000  d. `16,500  e.  tpil njhpatpy;iy  

 
19. The curved surface area of a right circular cone of height 15cm and base 

diameter 16cm is  
a. 60  cm2   b. 68  cm2     c. 120  cm2   

d. 136  cm2   e. Answer not known  
 15 nr.kP cauKk; 16 nr.kP tpl;lKk; nfhz;l xU Neh;tl;lf; $k;gpd; 
tisgug;G  
a. 60  nr.kP2  b. 68 nr.kP2   c. 120 nr.kP2   
d. 136 nr.kP2   e. tpilnjhpatpy;iy  
   

20. A machine bought at Rs.50, 000 falls in its value by 8% of its value every year. 
Find the value of the machine after 2years.  
a. `40,000 b. `43,220  c. `42,000 d. ` 42,320 e. Answer not known 
& 50>000 kjpg;Gs;s xU ,ae;jpukhdJ mjd; tpiyapy; xt;nthU tUlKk; 
8% FiwfpwJ vdpy; 2 tUlq;fSf;Fg;gpd; mjd; tpiy vd;d?  
a. `40,000 b. `43,220  c. `42,000 d. ` 42,320 e. tpil njhpatpy;iy  
 

21. The functions of NITI are  
1. Decentralized Planning   
2. Harmonization  
3. Capacity Building 
4. External Consultancy  
Out of these, which are correct answers? 
a. (1) and (2)    b. (2) and (3)  c. (1) (2) and (3)    
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d. (2) and (4)    e. Answer not known 
NITI - d; gzpfshtd 
1. gutyhf;fg;gl;l jpl;lk;  
2. xj;jpirT  
3. jpwd; Nkk;ghL  
4. ntspg;Gw MNyhrid  
a. (1) kw;Wk; (2)   b. (2) kw;Wk; (3)  c. (1) (2) kw;Wk; (3)    
d. (2) kw;Wk; (4)   e.  tpil njhpatpy;iy  

 
22. The Boolean expression for XOR gate is  

a. AB AB+  b. .A B  c.  A B+  d. AB AB+   e. Answer not known 
XOR thapypd; G+ypad; rkd;ghL  
a. AB AB+  b. .A B  c.  A B+  d. AB AB+   e. tpil njhpatpy;iy 

 
23. Bhagat Singh was sentenced to death because of  

a. Attempted to assassinate Charles Tegart  
b. Leaded the Hindustan Socialist Republic Association 
c. Advocated Socialism and Communism 
d. Lahore Conspiracy Case 
e. Answer not known 
gfj;rpq;fpw;F kuz jz;liz tpjpf;fg;gl;ljw;fhd fhuzk;  
a. rhh;y]; nlfhh;l; nfhy;y Kaw;r;rpj;jjhy;  
b. ,e;J];j;jhd; Nrh~paypr FbauR mikg;gpd; jiytuhjyhy;  
c. Nrh~paypr kw;Wk; fk;A+dpr nfhs;iffis gug;gpajhy;  
d. yh$h; rjp tof;fpw;f;fhf  
e. tpil njhpatpy;iy  

 
24. Match the following awards 2019: 

A. Best Translator Award    1. Pulavar V. Prabhakaran 
B. Ayothi Dasa Pandithar Award  2. Liyagath Alikhan 
C.  Umaru Pulavar Award   3. Vatsala  
D.  Kabilar Award     4. Pulavar Vettri Azagan 
  A B C D 
 a. 3 1 2 4 
 b. 1 3 4 2 
 c. 4 3 2 1 
 d. 2 3 1 4 
 e.  Answer not known 
gpd;tUk; 2019-k; tpUJfis nghUj;jTk;:  
A. rpwe;j nkhop ngah;g;ghsh; tpUJ   1. Gyth; Nt. gpughfud;  
B. mNahj;jp jhr gz;bjh; tpUJ  2. ypahfj; mypfhd;  
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C. ckWg;Gyth; tpUJ    3. tj;ryh 
D. fgpyh; tpUJ      4. Gyth;. ntw;wpaofd; 
  A B C D 
 a. 3 1 2 4 
 b. 1 3 4 2 
 c. 4 3 2 1 
 d. 2 3 1 4 
 e. tpil njhpatpy;iy  

 
25. (I): The old leaders of the congress were conscious of the ruinous economic 

       policy of the British Government. 
(II): Dadabhai Naoroji, Ramesh Chandra Dutt, D.E. Wacha and others had  
     appreciated the anti-indian economic policies of the British Government.  
a. (I) is True    b. (I) and (II) are true   c. (I)and (II) are false  
d. (II)is true   e. Answer not known 
I. fhq;fpurpd; gioa jiyth;fs; gphpl;b~; murhq;fj;jpd; mopTfukhd 

nghUshjhuf; nfhs;if mwpe;jpUe;jdh;.  
II. jhjhgha; nesNuh[p> uNk~; re;jpujj;> b., thr;rh kw;Wk; gyh; gphpl;b~; 

murpd; ,e;jpa nghUshjhu vjph;g;Gf; nfhs;ifia ghuhl;bAs;sdh;.  
a. I kl;Lk; rhp  b. I kw;Wk; II rhp  c. I kw;Wk; II jtW  
d. II kl;Lk; rhp e. tpil njhpatpy;iy  

 
26. Match the following: 

A. Lahore Congress   1. Forward Bloc 
B. Tricolour flag    2. Ravi river  
C. Nethaji    3. Poorna Swaraj 
d. Union Jack    4. British Flag 
    A B C D 
   a. 4 2 3 1  
   b. 1 3 2 4 
   c. 3 2 1 4 
   d. 1 3 4 2 
   e.  Answer not known 
 gpd;tUtdtw;iw nghUj;Jf:  
A. yh$h; fhq;fpu];   1. ghh;th;L gpshf;  
B. %th;z nfhb   2. uhtp ejp  
C. Nejh[p    3. G+h;z Rauh[;ak;  
D. A+dpad; [hf;   4. gphpl;b~; nfhb  
   A B C D 
  a. 4 2 3 1  
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  b. 1 3 2 4 
  c. 3 2 1 4 
  d. 1 3 4 2 

  e. tpil njhpatpy;iy 
 
27. Pre-matric scholarship is given to 

a. students from 9th standard to 12th  standard level 
b. students of 9th standard to 10th standard level 
c. students from 6th standard to 10th standard level 
d. students from 6th standard to 12th standard level 
e. Answer not known 
g;hp nkl;hpf; cjtpj;njhifapd; gadhspfs;  
a. 9-k; tFg;G Kjy; 12-k; tFg;G tiu gbf;fpd;w khzth;fs; 
b. 9-k; tFg;G kw;Wk; 10-k; tFg;G gbf;fpd;w khzth;fs;  
c. 6- tFg;G Kjy; 10-k; tFg;G tiu gbf;fpd;w khzth;fs;  
d. 6-k; tFg;G Kjy; 12-k; tFg;G tiu gbf;fpd;w khzth;fs;  
e. tpil njhpatpy;iy  

 
 
28. Which of the following was one of the impact of Swadeshi movement in the 

communication system of India? 
a. Passive resistance    b. Surat Split  
c. Hindus alienated Muslims   d. Popularity of Regional language 
e. Answer not known 
fPo;fz;litfspy; vJ RNjrp ,af;fj;jpd; tpisthf ,e;jpa jfty; njhlh;G 
Jiwapy; Vw;gLj;jg;gl;l jhf;fk; vdyhk;?  
a. rhj;tPf vjph;g;G      
b. #uj; gpsT  
c. ,e;Jf;fs; K];yPk;fsplkpUe;J me;epagLj;jgly;  
d. tl;lhu nkhopfspd; nry;thf;F ngWjy;  
e. tpil njhpatpy;iy  

 
29. Who was the architect of atomic research in India? 

a. Nehru  b. Homi Bhaba   c. Bhatnagar   
d. Abdul Kalam  e. Answer not known 
,e;jpa mZ Muha;r;rpapd; rpw;gp ahh;?  
a.  NeU    b. N`hkp ghgh  c. gl;ehfh;  
d. mg;Jy; fyhk; e. tpil njhpatpy;iy  

 
30. The British historians call the Revolt of 1857 

a. Freedom Struggle  b. The Great Revolt c. War of Independence  
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d. Sepoy Mutiny  e. Answer not known 
fPo;f;fz;lthW 1857 Mz;L Gul;rpia Mq;fpy tuyhw;whrphpah;fs; 
miof;fpd;wdh;  
a. tpLjiy ,af;fk;  b. ngUk; fpsh;r;rp  c. Rje;jpug; Nghh;  
d. rpg;gha; fyfk;   e. tpil njhpatpy;iy 

 
31. Which among the following is not a book / work of Arundathi Roy? 

a. The God of small things    b. War Talk  
c. The Ministry of utmost happiness  d. The 3 mistakes of my life 
e. Answer not known 
fPo;fhzg;gLgitfspy; ve;j Gj;jfk; / ehty; mUe;jjp uhahy; 
vOjg;gltpy;iy?  
a. rpwpa tp~aq;fspd; flTs;   b. Nghh; Ngr;R  
c. kpFe;j kfpo;;r;rpahd gzp  d. vd; tho;tpd; 3 jtWfs;  
e. tpil njhpatpy;iy  

 
32. Traditionally, the land of Tamils is presented as containing 5major 

physiographic divisions. Match the following.  
A. Kurinji   1. Fertile region 
B. Mullai   2. Forest region 
C. Marudham   3. Coastal region 
D. Neidhal   4. Mountainous region 
  A B C D 
 a. 3 2 1 4 
 b. 1 3 2 4 
 c. 3 1 4 2 
 d. 4 2 1 3  
 e. Answer not known 
,ayikg;G Gtpapay; jkpo; ghuk;ghpaj;jpy; (,aw;if rhh;e;J mikjy;) 
epyq;fis 5 ngUk; gphpTfshf toq;FfpwJ. gpd;tUtdtw;wpypUe;J 
nghUj;Jf:  
A. FwpQ;rp    1. tskhd gFjp  
B. Ky;iy   2. fhl;Lg; gFjp  
C. kUjk;   3. fly; gFjp  
D. nea;jy;   4. kiyfs; gFjp  
   A B C D 
  a. 3 2 1 4 
  b. 1 3 2 4 
  c. 3 1 4 2 
  d. 4 2 1 3  
  e. tpil njhpatpy;iy  
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33. World’s longest beach is found in  

a. Brazil   b. India  c. Mexico  d. USA e. Answer not known 
cyfpd; kpf ePskhd flw;fiu ,e;ehl;by; cs;sJ  
a. gpNurpy; b. ,e;jpah  c. nkf;]pNfh d. USA  e. tpil njhpatpy;iy  

 
34. Hindu Religious Endowments Act was passed for the first time by the 

Government of  
a. Justice Party   b. Congress Party   c. DMK Party 
d. AIADMK Party   e. Answer not known 
,e;J rka mwf;fl;lisr; rl;lk; Kjd; Kjypy; ,e;j fl;rpapd; Ml;rp 
fhyj;jpy; epiwNtw;wg;gl;lJ? 
a. ePjpf;fl;rp   b. fhq;fpu]; fl;rp   c. jpuhtplKd;Ndw;wf; fofk;  
d. midj;jpe;jpa mz;zh jpuhtpl Kd;Ndw;wf; fofk;  
e. tpil njhpatpy;iy  

 
35. Pick out option which consists of BRIC Nations. 

a. Britain, Rio de Janerio, Italy, Congo, Switzerland  
b. Brazil, Russia, India, China, South Africa 
c. Bhutan, Rumania, Indonesia, Canada, Sumatra 
d. Bangladesh, Russia, Iceland Chile, Sweden  
e. Answer not known 
BRICs ehLfis cs;slf;fpa tpilia njhpT nra;f.  
a. gphpl;ld;> hpNahb [dhpNah> ,j;jhyp> fhq;Nfh> Rtpl;rh;yhe;J  
b. gpNurpy;> ,u~;ah> ,e;jpah> rPdh> njd; Mg;gphpf;fh  
c. G+l;lhd;> UNkdpah> ,e;NjhNd~pah> fdlh> Rkj;uh  
d. gq;fshNj~;> ,u~;ah> I];yhe;J> rpyp> RtPld; 
e. tpil njhpatpy;iy  

 
36. A competitive exam paper has 100 questions for which 1 mark will be 

awarded for each correct answer and 
1

2
 mark will be deducted for every 

wrong answer, 
1

4
mark will be deducted for non- answering. Find the total 

mark scored by a candidate who answered 88 questions of which 61 are 
correct.  
a. 61  b. 44.5 c. 44.25  d. 54  e. Answer not known 
100 tpdhf;fs; nfhz;l xU Nghl;bj; Njh;tpy; rhpahd tpilaspf;Fk; xt;nthU 

tpdhtpw;Fk; 1 kjpg;ngz; toq;fg;gLfpwJ. jtwhd tpilf;F 
1

2  
kjpg;ngz; 
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fopf;fg;gLfpwJ. NkYk; tpilaspf;fhj Nfs;tpf;F 
1

4  
kjpg;ngz; 

fopf;fg;gLfpwJ. xU Njh;th; 88 tpdhf;fSf;F tpilaspf;fpwhh;. mtw;Ws; 61 
tpdhf;fSf;F rhpahd tpilaspj;jpUf;fpwhh; vdpy; mth; ngWk; kjpg;ngz; 
vt;tsT?  
a. 61  b. 44.5 c. 44.25  d. 54   e. tpil njhpatpy;iy  

 
37. A student can type 21page in 15 minutes. At the same rate, how long will it 

take the student to type 84 pages? 
a. 60 minutes   b. 50 minutes    c. 70 minutes   
d. 45 minutes   e. Answer not known 
xU khztdhy; 15 epkplq;fspy; 21 gf;fq;fisj; jl;lr;R nra;a KbAk;. ,Nj 
Ntfj;jpy;> me;j khztDf;F 84 gf;fq;fs; jl;lr;R nra;a vt;tsT Neuk; 
MFk;?  
a. 60 epkplq;fs;  b. 50 epkplq;fs;  c. 70 epkplq;fs;  
d. 45 epkplq;fs;  e. tpil njhpatpy;iy  

 
38. The breadth of a rectangular field is 60% of its length. If the perimeter of the 

field is 800m, what is the area of the field? 
a. 18750 sq. m.  b. 37500 sq. m.    c. 40000 sq. m.  
d. 48000 sq. m.  e. Answer not known 
xU nrt;tf taypd; mfyk;> ePsj;jpd; 60% MFk;. mt;taypd; Rw;wsT 800 
kP vdpy; mt;taypd; gug;gsitf; fhz;. 
a. 18750 sq. m.  b. 37500 sq. m.    c. 40000 sq. m.  
d. 48000 sq. m.  e. tpil njhpatpy;iy  
 

39. Find the G.C. D. of the following: 
5 3 4 2 3 2 235 ,49 ,14x y z x yx xy z  

a. 2 2 27x y z  b. 7xyz  c. 5 3 414x y z    d. 27x y z  e. Answer not known 

kP.ngh.t. (G.C.D) fhz;f.  
5 3 4 2 3 2 235 ,49 ,14x y z x yx xy z  

a. 2 2 27x y z  b. 7xyz  c. 5 3 414x y z    d. 27x y z  e. tpil njhpatpy;iy  

 
40. 10% of 5 and 5% of 10 add upto  

a. 0.10   b. 0.25 c. 1.0  d. 2.5  e. Answer not known  
a5-d; 10% kw;Wk; 10-d; 5% Mfpatw;wpd; $Ljy;  
a. 0.10   b. 0.25 c. 1.0  d. 2.5  e. tpil njhpatpy;iy  

 
41. After removing the causes of one’s suffering the one with crystal knowledge 

find its  
a. Combined book    b. Secondary book   c. Derived book  
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d. Primary / Original text e. Answer not known 
tpidapd; ePq;fp tpsq;fpa mwptpd; Kidtd; fz;lJ __________ MFk;.  
a. gyE}y;  b. JizE}y;  c. topE}y;  
d. Kjy;E}y;  e. tpilnjhpatpy;iy  

 
 
42. Match the Wild Life sanctuaries in India with respective state: 

A. Bhitarkanika   1. Goa 
B. Nokrek    2. Odisha 
C. Dalma    3. Meghalaya 
D. Bondla    4. Jharkhand 

 A B C D 
 a.  2 3 4 1 
 b. 1 2 3 4 
 c. 3 4 1 2 
 d. 3 4 1 2 
 e. Answer not known 

,e;jpahtpd; td tpyq;F ruzhyq;fis mjd; khepyq;fSld; nghUj;Jf:  
A. gpj;jh;fdpfh   1. Nfhth  
B. Nehf;nuf;   2. Xbrh  
C. lhy;kh    3. Nkfhyah  
D. nghd;l;yh   4. [hh;fz;l;  

 A B C D 
 a.  2 3 4 1 
 b. 1 2 3 4 
 c. 3 4 1 2 
 d. 3 4 1 2 
 e. tpil njhpatpy;iy 

 
43. Which metal was used by Romans to mint the coins that were brought to 

India (Tamil Nadu)? 
a. Copper b. Gold  c. Lead  d. Silver  e. Answer not known 
njhlf;fj;jpy; Nuhkhdpah;fs; ve;j cNyhfj;jpy; ,e;jpahtpw;F nfhz;L 
tug;gl;l fhRfis ntspapl;ldh;?  
a. nrk;G  b. nghd; c. <ak; d. nts;sp   e. tpil njhpatpy;iy  

 
44. When is the Sivalik hill located?  

a. Outer Himalaya  b. Greater Himalaya c. Sub –Himalaya  
d. Central Himalaya e. Answer not known 
rpthypf; kiy vq;F mike;Js;sJ?  
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a. ntspg;Gw ,kakiy   b. cah; ,kakiy  
c. cg-,kakiy    d. kj;jpa ,kakiy  
e. tpil njhpatpy;iy  

 
45. Which one of the following is the North Dravidian linguistic group?  

a. Malto  b. Telugu  c. Gondi  d. Kannada  e. Answer not known 
tl jpuhtpl nkhop FO vJ?  
a. khy;Nlh   b. njYq;F    c. Nfhz;b  
d. fd;dlk;  e. tpil njhpatpy;iy  

 
46. Assertion (A) : Attitude of the eastern Himalayas increases rapidly unlike  

       Western Himalayas 
Reason (R)   :  World’s highest peaks, Everest and Kanchanjunga are situated
   
     in the vicinity of Bihar and West Bengal Plains  
a. Both (A) and (R) are true and (R) is the correct explanation of (A)  
b. Both (A) and (R) are true and but (R) is not the correct explanation of (A) 
c. (A) is true but (R) is false 
d. (A) is false but (R) is true   
e. Answer not known 
$w;W (A) : fpof;F ,khya kiyj;njhlhpd; cauk; Nkw;F ,khya  
    njhliuNghy; my;yhky; tpiue;J cah;fpd;wJ. 
fhuzk; (R) : cyfpd; kpf caukhd rpfuq;fshd vtu];l; kw;Wk;  
    fQ;rd;[q;fh Nghd;wit mike;jpUg;gJ gP̀ hh; kw;Wk;  
    Nkw;Ftq;f rkntsp gFjpapd; ghh;itapy; mike;Js;sJ.  
a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R), (A)-apd; rhpahd tpsf;fk; MFk;  
b. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R),(A) – apd; rhpahd tpsf;fky;y  
c. (A) rhp> (R) rhpay;y  
d. (A) rhpahdJ my;y> (R) rhpahdJ  
e. tpil njhpatpy;iy  

 
 

47. Name the first Tamil Newspaper, which published political cartoons during 
the colonial rule 
a. The Mirror    b. Suthanthira Sangu   c. The India 

d. Swedeshamitran  e. Answer not known 
Mq;fpNyah; fhyj;jpy; ve;j jkpo; nra;jpj;jhs; murpay; fUj;Jg; glq;fis 
Kjypy; ntspapl;lJ?  
a. jp kpuh;  b. Rje;jpu rq;F   c. jp ,e;jpah  
d. RNjrkpj;ud;  e. tpil njhpatpy;iy 
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48. The Lankavatara Sutra deals with  
a. Life of Mahavira    b. Teachings of Mahayana Buddhism 

c. Teachings of Hinduism  d. Vedas  
e. Answer not known 
yq;fhtjhuh #j;jpuk; ,ijg; gw;wp $WfpwJ 
a. kfhtPuhpd; tho;f;if   b. kfhahz Gj;jkj nfhs;iffs;  
c. ,e;Jkj nfhs;iffs;  d. Ntjq;fs;  
e. tpilnjhpatpy;iy  
 

49. __________established a fact after a careful study of Roman Coins that 
commercial contacts between Rome and South India commenced during the 
reign of Emperor Augustus. 
a. Father Heras    b. Mr. R. Sewell  c. D.D. Kosambi  
d. Dr. U.V. Swaminatha Iyer e. Answer not known 
Nguurh; mf];l]; fhyj;jpNyNa NuhkhGhpf;Fk; njd;dpe;jpahtpw;Fk; tzpfj; 
njhlh;Gfs; ,Ue;jJ vd;gij NuhkhGhp ehzaq;fis ftdj;Jld; gbj;jg;gpwF 
,f;$w;wpid ntspg;gLj;jpath;  
a. je;ij `puh];    b. jpU. R. Nrnty;  c. D.D. Nfhrhk;gp  
d. Kidth; U.V. Rthkpehj Iah; e. tpil njhpatpy;iy  
 

50. Who was the first scholar to use the term ”Indus Civilization”? 
a. Mortimer Wheeler   b. Dr. Pran Nath    
c. Morris J. Spivack   d. Sir John Marshal 

e. Answer not known 
rpe;J ehfhpfk; vd;w thh;j;ijia gad;gLj;jpa Kjy; mwpQh; ahh;?  
a. khh;bkh; tPyh;   b. Kidth; gpuhd;ehj;  
c. Nkhhp]; J. ];gpthf;   d. rh; [hd; khh;~y;  
e. tpilnjhpatpy;iy  

 
51. The combined programme of Self-Respectors and and Communists came to 

be called as __________plan. 
a. Chengalpat Plan  b. Erode Plan   c. Virudhunagar Plan 
d. Salem Plan   e. Answer not known 
Rakhpahij ,af;fj;jhh; kw;Wk; fk;A+dp]; / nghJTilikthjpfspd; $l;Lj; 
jpl;lj;jpw;F _______ jpl;lk; vd;gh;.  
a. nrq;fy;gl;L jpl;lk;  b. <NuhL jpl;lk;  c. tpUJefh; jpl;lk;  
d. Nryk; jpl;lk;   e. tpil njhpatpy;iy  

  
52. If the battle of Plassey was considered to be the beginning of British Rule then 

by which battle they completed the conquest of India?  
a. Battle of Yandaboo  b. Battle of Arcot   c. Battle of Panipat  
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d. Battle of Kirkee   e. Answer not known 
 gpshrpg;Nghhpd; %yk; ,e;jpahtpy; Mq;fpNyNa Ml;rp njhlq;fg;ngw;wJ vdpy; 
ve;j Nghhpd; %yk; mJ KOikg;ngw;wJ? 
a. ahz;lG+ Nghh;   b. Mw;fhL Nghh;   c. ghdpgl; Nghh;  
d. fph;fp Nghh;    e. tpil njhpatpy;iy 

 
53. Who pronounced the words, ‘Sangamazhi Tamil’? 

a. Thirupan Aazhvar  b. Kuzhasekar Aazhvar c. Aandal  
d. Thirumangai Aazhvar  e. Answer not known 
'rq;fkyp jkpop' – vd;wth;  
a. jpUg;ghzho;thh;   b. FyNrfuho;thh;  
c. Mz;lhs;    d. jpUkq;ifaho;thh;  
e. tpil njhpatpy;iy  

 
54. Match the List I with List II and choose your answer  from codes given 

below: 
  List (Person)   List II (Titles)  
A. Arya Bhatta   1. Newton of India  
B. Skanda Gupta    2. Hero of Asia and Europe  
C. Chandra Gupta II  3. Destroyer of the Sakas 
D. Kalidasa    4. Shakespeare of India 

   A B C D 
   a. 1 2 3 4 
   b. 3 4 1 2 
   c. 4 3 2 1 
   d. 1 3 2 4 
   e.  Answer not known  
fPNo nfhLf;fg;gl;l thpir I kw;Wk; thpir II ml;ltizia nghUj;Jf:  
  thpir I (egh;)    thpir II (gl;lk;)  
A. mhpag;gl;lh    1. ,e;jpahtpd; epA+l;ld;  
B. ];fe;jFg;jh;   2. Mrpa kw;Wk; INuhg;ghtpd; `PNuh  
C. re;jpuFg;jh; II    3. rhfh;fis mopj;jth;  
D. fhspjhrh;    4. ,e;jpahtpd; N~f;];gpah;  

   A B C D 
   a. 1 2 3 4 
   b. 3 4 1 2 
   c. 4 3 2 1 
   d. 1 3 2 4 
   e. tpil njhpatpy;iy  
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55. Which one of the following is used for protecting one’s homeland during 

war? 
a. Vethchi b. Karanthai c. Vanji d. Kaanji e. Answer not known 
jd;ehl;ilf; fhj;Jf; nfhs;sg; NghhpLk; - Gwj;jpiz vJ?  
a. ntl;rp b. fue;ij  c. tQ;rp d. fhQ;rp e. tpil njhpatpy;iy  

 
56. A can do a piece of work in 20 days and B can do it in 30 days.  How long 

will they take to do the work together? 
a. 15  b. 12  c. 20  d. 25  e. Answer not known 
A vd;gth; xU Ntiyia 20 ehl;fspYk; B vd;gth; mNj Ntiyia 30 
ehl;fspYk; nra;J Kbg;ghh;fs;. mt;tpUtUk; Nrh;e;J mt;Niyiar; nra;J 
Kbf;f vj;jid ehl;fs; MFk;?  
a. 15  b. 12  c. 20  d. 25  e. tpil njhpatpy;iy 

   
57. A can do a piece of work in 8 days and B can do the same piece of work in 12 

days.  A and B together complete the same piece of work and get `200 as the 
combined wages.  B’s share of the wages will be 
a. ` 75  b. ` 80 c. ` 85 d. ` 90 e. Answer not known 
xU Ntiyia A, 8 ehl;fspy; nra;J Kbg;ghh;. mNj Ntiyia Kbf;f B-
f;F 12 ehl;fs; MFk;. me;j Ntiyia A kw;Wk; B ,UtUk; Nrh;e;J Kbj;J 
ì 200 ia xUq;fpize;j Cjpakhf ngw;why; mjpy; B-f;fhd Cjpak; 
a. ` 75  b. ` 80 c. ` 85 d. ` 90 e. tpil njhpatpy;iy 

    
58. The highest number which divides the product of any three consecutive even 

natural number is 
a. 2  b. 4  c. 8  d. 16  e. Answer not known 
mLj;jLj;j %d;W ,ul;il ,ay; vz;fspd; ngUf;fiy tFf;Fk; kpfg;nghpa 
vz;  
a. 2  b. 4  c. 8  d. 16  e. tpil njhpatpy;iy  

 
59. When two dice are rolled the number of outcomes of getting the sum of the 

faces equal to 8 is? 
a. 4  b. 5  c. 6  d. 7  e.  Answer not known 
,U gfilfs; cUl;lg;gLk;NghJ mtw;wpd; Kf kjpg;Gfspd; $Ljy; 8-Mf 
,Ug;gjw;fhd tha;g;Gfspd; vz;zpf;if  
tpil njhpatpy;iy  
a. 4  b. 5  c. 6  d. 7  e.  tpilnjhpatpy;iy  
 

60. The probability a red marble selected at a random from a Jar containing p 
red, q blue and “r” green marble is  
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a. 
q

p q r+ +
  b. 

p

p q r+ +
  c. 

p q

p q r

+

+ +
  d. 

p r

p q r

+

+ +
 

e. Answer not known 
p - rptg;G> q- ePyk;> r- gr;ir epwf; $ohq;fw;fs; cs;s xU FLitapy; ,Ue;J 
xU rptg;Gepw $ohq;fy; fpilg;gjw;fhd epfo;jfthdJ  

a. 
q

p q r+ +
  b. 

p

p q r+ +
  c. 

p q

p q r

+

+ +
  d. 

p r

p q r

+

+ +
 

e. tpil njhpatpy;iy  
 

61. The Indus Valley Civilization, people had a trade contact with 
1. Central Asia Mesopotamia  
2. North Eastern Afghanistan 
3. Gujarat and Baluchiston 
4. Persia 
a. (1) only  b. (2) only   c. (3) only   d. (1),(2),(3),(4) 

e. Answer not known 
rpe;J rktnsp kf;fs; ve;j ehLfSld; thzpg njhlh;G nfhz;bUe;jhh;fs;  
1. kj;jpa Mrpah nkrgNlhkpah  
2. tlfpof;F Mg;fhdp];jhd;  
3. F[uhj; kw;Wk; gYrp];jhd;  
4. ghurPfk;  
a. (1) kl;Lk;  b. (2) kl;Lk;  c. (3) kl;Lk;   d. (1),(2),(3),(4) 

e. tpil njhpatpy;iy  
 

62. Which one of the statement is incorrect regarding Velunachiar? 
I. She was born as a Princess of Ramanathapuram 
II. Her husband was Muthu Vaduga Udaya Devar 
III. Hyder Ali invaded Sivaganga in 1780 and defeated Velunachiar 
IV. She utilised the Second Mysore War to enter the Sivaganga 
a. (I) only b. (II) only c. (III) only  d. (IV) only e. Answer not known 
fPo;fz;ltw;wpy; NtY ehr;rpahh; gw;wp jtwhd $w;W vJ?  
I. ,th; uhkehjGuk; ,sturp Mthh; 
II. ,tUila fzth; Kj;J tLf cila Njth;  
III. 1780 i`jh; myp rptfq;ifapd; kPJ gil vLj;J NtYehr;rpahiu  
   Njhw;fbj;jhh;.  
IV. ,th; ,uz;lhk; ik#h; Nghiu gad;gLj;jp rptfq;iff;Fs; Eioe;jhh;.  
a. I kl;Lk;   b. II kl;Lk;    c. III kl;Lk;  
d. IV kl;Lk;    e. tpilnjhpatpy;iy  
 

63. Muhammad Gawan was appointed as Governor of which region by 
Humayun? 
a. Bijapur  b. Golkonda  c. Bedar  d. Birar e. Answer not known 
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KfkJ fthid ve;j gpuhe;jpaj;jpd; MSeuhf P̀khA+d; epakpj;jhh;? 
a. gp[g;G+h;  b. Nfhy;nfhz;lh   c. Nglhh;  
d. gPuhh;   e. tpil njhpatpy;iy  

 
64. Assertion (A)  : South Indian Rebellion failed miserably. 

Reason (R)  : There was no co-ordination between the leaders. 
a. (A) is Right, (R) is Wrong  
b. (A) is Right (R) is not the correct explanation of (A) 
c. Both (A) and (R) are Wrong 
d. (A) is Right (R) is the correct explanation of (A) 
e. Answer not known 
$w;W (A) : njd;dpe;jpa Gul;rp kpf gaq;fukhf Njhy;tpAw;wJ.  
fhuzk; (R): jiyth;fspilNa xw;Wik ,y;yhky; ,Ue;jJ  
a. (A) rhp (R) jtW 
b. (A) rhp (R), (A)-apd; rhpahd tpsf;fky;y  
c. (A), (R) ,uz;Lk; jtW  
d. (A) rhp (R), (A)-apd; rhpahd tpsf;fk;  
e. tpil njhpatpy;iy  

 
65. Amirkhusrau hailed which city as the “Second Heaven and a great centre of 

Justice”. 
a. Mathura b. Agra c. Kashmir  d. Delhi e. Answer not known 
mkPh;F];U ve;j efuj;ij ,uz;lhk; nrhh;f;fk; kw;Wk; kpfr; rpwe;j epjp 
ghpghyz ikak; vd Fwpg;gpl;lhh;?  
a. kJuh  b. Mf;uh c. fh~;kPufk; d. nly;yp e. tpil njhpatpy;iy  

 
66. Who is called as Paanan according to Tamil Literature? 

a. One who sings a song   b. One who beats the Parai 
c. One who stitch the fishnet  d. None of these 
e. Answer not known 
ghzd; vd;gth; ahh;?  
a. ghl;Lg;ghLgth;    b. giw mbg;gth;  
c. kpd;tiy nea;gth;  d. ,tw;Ws; vJTk; ,y;iy  
e. tpil njhpatpy;iy  

 
67. The Mughal Emperor who gave permission to East India Company to set up 

trading post Surat? 
a. Akbar   b. Aurangazeb   c. Jahangir   
d. Shahjahan  e. Answer not known 
#uj;jpy; th;j;jf ikaj;ij mikf;f Mq;fpy fpof;fpe;jpa fk;ngdpf;F 
mDkjp mspj;j Kfyha Nguurh; ahh;?  
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a. mf;gh;   b. mTuq;frPg;   c. [`hq;fPh; 
d. ~h[fhd;  e. tpilnjhpatpy;iy  

 
68. Identify the Tamil writers who have received Jnanpith award. 

a. Agilan, Jeyakanthan  b. Agilan, Sujatha 
c. Jeyamohan    d. Puthumai Pithan, S. Ramakrishnan 
e. Answer not known 
jkpopy; QhdgPl tpUJ ngw;wth;fs; - ahth;?  
a. mfpyd;> n[afhe;jd;  b. mfpyd;> R[hjh  
c. n[afhe;jd;> n[aNkhfd; d. GJikg;gpj;jd;> v];. uhkfpU~;zd;  
e. tpil njhpatpy;iy  

 
69. Match the following committees with their purpose of setting up (Panchayat 

Raj Committees) 
   Committees     Purpose 
  A. L.M. Singhvi Committee   1. Administrative arrangement for rural 
            development  

  B. G.V.K. Rao Committee  2. Community development  
            Programme 
  C. Balwant Rai Mehta Committee 3. Revival and strengthening of  
             Panchayat System 
  D. Ashok Mehta Committee  4. Revitalisation of Panchayat Raj 
        Institutions 
  E. Answer not known 
    A B C D 
   a. 1 3 2 4 
   b. 4 3 2 1 
   c.  4 1 2 3 
   d.  3 1 4 2 
   e.      Answer not known 
fPo;f;fhzg;gLk; FOf;fis mjd; mikg;G Nehf;fj;Jld; nghWj;jTk; 
(gQ;rhaj;J uh[; FO) 
   FO     Nehf;fk;  
A. vy;.vk;.rpq;tp FO   1. fpuhkg;Gw Nkk;ghl;Lf;fhd eph;thf Vw;ghL  
B. G.V.K. uht; FO   2. r%f mgptpUj;jp jpl;lk;  
C. gy;te; uha; Nkj;jh FO  3. Gj;Japh; mspj;jy; kw;Wk; gQ;rhaj;J  
        Kiwia tYg;gLj;Jjy;  
D. mNrhf; Nkj;jh FO   4. gQ;rhaj;J uh[; epWtdq;fspd; Gj;Japh;  

A B C D 
   a. 1 3 2 4 
   b. 4 3 2 1 
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   c.  4 1 2 3 
   d.  3 1 4 2 
   e. tpil njhpatpy;iy  
 

70. “One’s knowledge depends on how he learns”-What is the simile that 
Thiruvalluvar uses in this meaning? 

a. When water flows like a flood  
b. In sandy soil, when deep you delve, you reach the springs below  
c. When flowers, in barren soil, on sapless trees, shall blow  
d. Like staff in hand of him in slippery ground  
e. Answer not known 
'kf;fs; fy;tp fw;w mstpw;F mwpT CWk;" - ,g;nghUSf;Fj; jpUts;Sth; 
$Wk; ctik vJ?  
a. nts;sj; jida kyh;ePl;lk;  
b. njhl;lidj; J}W kzw;Nfzp  
c. tw;wy; kuk; jsph;j; jw;W  
d. ,Of;fy; cilAop Cw;Wf;Nfhy;  
e. tpil njhpatpy;iy 

 
71. Which one of the following is offered by the Election Commission to a 

recognized political party? 
a. Party name   b. Election funds    c. Election symbol 

d. Election manifesto e. Answer not known 
gpd;tUtdtw;wpy; vij Njh;jy; Mizak; mq;fPfhpf;fg;gl;l murpay; fl;rpf;F 
toq;FfpwJ?  
a. fl;rp ngah;   b. Njh;jy; epjp  c. Njh;jy; rpd;dk;  
d. Njh;jy; mwpf;if  e. tpil njhpatpy;iy  
 

72. “The compassion to share with and patronize lives is a primary virtue 
praised by many scriptures”. 
According to Thiruvalluvar, which of the following is considered the primary 
virtue of life? 
a. Helping others     b. Loving others   
c. Sharing lovingly to others  d. Speaking lovingly to others 
e. Answer not known 
mwE}y;fs; $Wk; mwq;fspy; vy;yhk; jiyaha mwk; vd;W jpUts;Sth; 
vjidf; $Wfpwhh;.  
a. cjtp nra;jy;  b. md;G ghuhl;Ljy;  c. gFj;Jz;Zjy;  
d. ,d;nrhy; $Wjy; e. tpil njhpatpy;iy 

 
73. Consider the following statements:  
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(I) The Indian fundamental rights are absolute. 
(II) The fundamental rights are enforceable. 
Which of the above statements are true? 
a. (I) only     b. (II) only   c. Both (I) and (II)   
d. None of the above    e. Answer not known 
fPo;f;fhzg;gLk; thf;fpaq;fis fUJf.  
I. ,e;jpahtpy; mbg;gil chpikfs; KOikahdit  
II. mbg;gil chpikfs; eilKiwgLj;j $bait  
NkNy fhzg;gLk; $w;Wfspy; rhpahdit vit?  
a. I kl;Lk;  b. II kl;Lk;  c. I kw;Wk; II  
d. Nkw;fz;l vJTkpy;iy   e. tpil njhpatpy;iy  

 
74. What does the word “Thuppakki” mean for Thiruvalluvar in this Kural? 

“Thupparku Thuppaya Thuppakki Thupparku 
Thuppaya Thoovum Mazhai” 
(The rain makes pleasant food for eaters; As food itself thirst quenching 
draught supplies) 
a. Mazhai Neer (Rain Water)  b. Paadhukaathal (Safety)   
c. Undaakuthal (Produce)   d. Unavu (Food) 
e. Answer not known 
"Jg;ghh;f;Fj; Jg;gha Jg;ghf;fpj; Jg;ghh;f;Fj;  
Jg;gha J}ck; kio'  
jpUts;Sth; 'Jg;ghf;fp' vd;w nrhy;ypw;F vd;d nghUs; fhz;fpwhh;?  
a. kioePH;    b. ghJfhj;jy;   c. cz;lhf;Fjy;  
d. czT     e. tpil njhpatpy;iy  

 
75. Consider the following statements:  

I. The doctrine of Eclipse is applied in relation to a pre –constitutional law 
enacted before 26th January 1950 

II. The Act is eclipsed when the constitution came into force and a shadow 
 falls on it because it is in consistent with the constitution. 

III. All laws governed by Articles 13 (1) and 13 (2) are pre –constitutional 
laws.  

Which of the above mentioned are correct? 
a. (I) and (II) are correct   b. (I) and (III) are correct  
c. (II) and (III) are correct   d. (I), (II) and (III) are correct  
e. Answer not known  
 fPo;f;fhzg;gLk; thf;fpaq;fis fUJf.  

I. fpufzf; Nfhl;ghL vd;gJ 26 [dthp 1950-f;F Kd; ,aw;wg;gl;l murpay; 
rhrd rl;lq;fis rhUk;.  
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II. murpay; rhrdk; te;j gpwF Kd; cs;s rl;lq;fspd; kPJ xU epoy; gl;L 
fpufzNfhl;ghl;bd; fPo; te;J tpLfpd;wd. Vnddpy; ,J 
murpayikg;gpw;F xj;J NghfhjJ 

III. tpjp 13(1) kw;Wk; 13(2) d; fPo; cs;s midj;J rl;lq;fSk; murpay; 
rhrdj;jpw;f;F Kd;ghfNt cs;s rl;lq;fshFk;.  

NkNy fhzg;gLgitfspy; vit rhpahdit?  
a. I kw;Wk; II rhp    b. I kw;Wk; III rhp  
c. II kw;Wk; III rhp   d. I, II kw;Wk; III rhp  
e. tpil njhpatpy;iy  
 

 
76. The largest four digit number which when divided by 4, 7 and 13 leaves a 

remainder 3 in each case is 
a. 9138 b. 9318 c. 9381 d. 9831 e. Answer not known 
4, 7 kw;Wk; 13 Mfpa xt;nthU vz;zhYk; tFgLk; nghOJ kPjp 3-I 
juf;$ba kpfg;nghpa ehd;F ,yf;f vz; 
a. 9138 b. 9318 c. 9381 d. 9831 e. tpil njhpatpy;iy  
 

77. Find the LCM of pair of the following polynomials  x4  -27 a3 x, (x - 3a)2 , 
whose  GCD is (x – 3a) 
a. x(x– 3a)2  (x2 -3ax+9a2)  b. x(x+ 3a)2  (x2 +3ax+9a2) 
c. x(x- 3a)2   (x2 +3ax-9a2)  d. x(x -3a)2   (x2 +3ax+9a2) 

e. Answer not known 
x4  -27 a3 x, (x - 3a)2 ,tw;wpd; kP.ngh.t. (x – 3a) vdpy; kP.ngh.k.  
a. x(x– 3a)2  (x2 -3ax+9a2)  b. x(x+ 3a)2  (x2 +3ax+9a2) 
c. x(x- 3a)2   (x2 +3ax-9a2)  d. x(x -3a)2   (x2 +3ax+9a2) 
e. tpil njhpatpy;iy  

 
78. If z = 52 and ACT = 48, then BAT will be equal to 

a. 39  b. 41  c. 44  d. 46  e. Answer not known 
z = 52 kw;Wk; ACT = 48 vdpy; BAT = ?  
a. 39  b. 41  c. 44  d. 46  e. tpil njhpatpy;iy  
 

79. M5E$RB3AK7#9$UDIN4%FH2@8W.How many such consonants are there in 
the above sequence each of which is immediately followed by a number and 
immediately preceded by a vowel. 
a. One  b. Four c. Three d. Two e. Answer not known 
M5E$RB3AK7#9$UDIN4%FH2@8W 
NkNy cs;s njhlhpy; cs;s cWg;Gfspy;> me;j cWg;G;F Kd;dhy; xU 
capnuOj;Jk; me;j cWg;igj; njhlh;e;J xU vz;Zk; tuf;$ba 
nka;naOj;Jf;fspd; vz;zpf;ifia fhz;f.  
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a. xd;W  b. ehd;F c. %d;W   d. ,uz;L  e. tpil njhpatpy;iy 
 

80. If Karkuzhali earns ` 1,800 in 15 days, then she earns  3,000 in________ 
a. 25  b. 20  c. 15  d. 10  e. Answer not known 
15 ehl;fspy; fhh;Foyp ì 1>800-I tUkhdkhfg; ngWfpwhh;. vdpy; ì 3>000-I 
__________ ehl;fspy; tUkhdkhfg; ngWthh;.  
a. 25  b. 20  c. 15  d. 10  e. tpil njhpatpy;iy  
 

81. “Nalamana Tamizhagam” programme is implemented by  
a. Directorate of Family Welfare    
b. Directorate of Public Health and Preventive Medicine  
c. Directorate of Medical Education  
d. Directorate of Medical and Rural Health Services  
e. Answer not known 
"eykhd jkpofk;" jpl;lk; __________ My; nray;gLj;jg;gLfpwJ.  
a. FLk;gey ,af;Feufk;  
b. nghJ Rfhjhu kw;Wk; jLg;G kUj;Jt ,af;Feufk;  
c. kUj;Jtf; fy;tp ,af;Feufk;  
d. kUj;Jt kw;Wk; Cuf Rfhjhu Nritfs; ,af;Feufk;  
e. tpil njhpatpy;iy  
 

82. Which of the following is not the function of finance commission? 
a. To recommend the distribution between union and state of the net 

proceeds of taxes 
b. Suggest the principles which should govern the grants-in-aid of the States 
c. Suggest measures to augment the consolidated fund of a State in order to 

supplement the resources of the Panchayats and Municipalities 
d. To formulate a plan for the most effective utilisation of the country’s 

resources  
e. Answer not known 
fPo;fz;ltw;Ws; epjp Mizaj;jpd; gpujhd nray;ghL my;yhj xd;iw 
Fwpg;gplTk;?  
a. thpfspd; epfu tUkhdj;jpid kj;jpa kw;Wk; khepy muR ,ilapy;  
   tpepNahfpf;f ghpe;Jiug;gJ  
b. khepyq;fSf;F cjTtjw;fhd khdpaq;fis eph;tfpf;f Ntz;ba  
   nfhs;iffis ghpe;Jiu nra;tJ.  
c. gQ;rhaj;J kw;Wk; efuhl;rpfspd; tsq;fis $Ljyhf xU khepyj;jpd;  
   xUq;fpize;j epjpia mjpfhpf;f eltbf;iffis ghpe;Jiu toq;FtJ  
d. ehl;bd; tsq;fis kpfTk; jpwk;gl gad;gLj;Jtjw;fhd jpl;lj;ij 
tFj;jy;  
e. tpil njhpatpy;iy  
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83. Who introduced the ‘Mid Day Meal System’ in Tamil Nadu? 

 a. E.V. Ramasamy  b. K. Kamaraj c. M.G. Ramachandiran  
 d. M. Karunanithi   e. Answer not known 
jkpo;ehl;by; kjpa czT jpl;lj;ij mwpKfg;gLj;jpath; ahh;?  
a. <.nt. ,uhkrhkp  b. F. fhkuh[h;  c. vk;.[p. ,uhkr;re;jpud;  
d. K. fUzhepjp  e. tpil njhpatpy;iy  

 
84. Parliamentary privileges are specified in 

a. Article 105  b. Article 194  c. Article 186    
d. Article 172  e. Answer not known 
ghuhSkd;w rYiffis ___________ y; Fwpg;gplg;gl;Ls;sd.  
a. tpjp 105  b. tpjp 194    c. tpjp 186 
d. tpjp 172   e. tpil njhpatpy;iy  
 

85. How is the Village Naluvedapathy in Tamil Nadu region escaped from major 
disaster 2004 tsunami? 

a. Natural Mangrove Forest    
b. Forest created by State Government 
c. Sand dunes      
d. Environmental protection act 1986 
e. Answer not known 
2004 Rdhkpapd; NghJ jkpofj;jpy; cs;s eSNtjgjp fpuhkk; ngUk; 
NguoptpypUe;J vt;thW jg;gpj;jJ?  
a. ,aw;ifahf mike;Js;s rJg;Gepy fhLfspdhy;  
b. khepy murhy; tsh;f;fg;gl;l fhLfspdhy;  
c. kzy; NkLfspdhy;  
d. Rw;Wr;#oy; ghJfhg;G rl;lk;> 1986 
e. tpil njhpatpy;iy  

 
86. The parliamentary left in India is significantly denotes, a Ideology of 

________ socio-economic and political design in the Post Colonial situation  
a. Revisionist  b. Democracy   c. Marxism    
d. Socialism  e. Answer not known  
,e;jpahtpy; ghuhSkd;w ,lJ nfhs;if Fwpg;gpLtJ _________ ,J 
fhydpj;Jtj;jpw;F gpe;ija r%f nghUshjhu kw;Wk; murpay; tbtikg;gpd; 
rpj;jhe;jk;.  
a. jpUj;jy;thjk;   b. [dehafk;  c. khh;f;rpak;   
c. rkjh;kk;    e. tpil njhpatpy;iy 
 

87. Tidel Park in Chennai was formed by TIDCO and  
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a. HCL  b. ELCOT  c. TCS d. IBM e. Answer not known 
nrd;idapy; jfty; njhopy;El;g G+q;fh cUthf;fg;gl;l epWtdq;fs; bl;Nfh 
kw;Wk;  
a. n`r;.rp.vy;  b. vy;fhl;  c. brpv]; 
d. Igpvk;  e. tpil njhpatpy;iy  

 
 

88. As the Act of Anti Defection law  
R: Independent members of the Parliament can lose his eligibility if he votes  
      for another political party against his own political party   
S: Members of the Parliament and members of the legislative assembly will 
      loose their eligibility against the order of the political party  
a. (R) and (S) are True  b. (R) is True and (S) is False   c. (R) is False  
d. (S) is True    e. Answer not known 
fl;rp jhfty; jLg;Gr; rl;l tpjpapd; fUj;J gb>  
Mh;: RNal;irahfj; Njh;e;njLf;fg;gl;l ghuhSkd;w Njh;jYf;Fg; gpd;dh;  
   VNjDk; murpay; fl;rpapy; Nrh;e;jhy; mtuJ cWg;gpdh; jFjpia   
  ,og;ghh;.  
v];: rl;lg;gb ghuhSkd;w cWg;gpdUk; khepy rl;lkd;w cWg;gpdh;fs; ,e;j  
   rl;lg;gb fl;rpapd; fl;lisf;Fkhwhf thf;fspj;jhYk; cWg;gpdh; jFjpia  
   ,og;ghh;fs;.  
a. (Mh;) kw;Wk; (v];) cz;ik  b. (Mh;) cz;ik (v];) jtW  
c. (Mh;) jtW     d. (v];) cz;ik  
e. tpil njhpatpy;iy  
 

89. The first state in India to introduce a pension scheme for third genders is  
 a. Maharastra    b. Kerala    c. Delhi    
 d. Tamil Nadu      e. Answer not known 
,e;jpahtpy; Kjd; Kjyhf %d;whk; ghypdj;jth;fSf;fhf Xa;T+jpa Kiwia 
mwpKfg;gLj;jpa khepyk;  
a. kfhuh~;buh  b. Nfush    c. nly;yp  
d. jkpo;ehL   e. tpilnjhpatpy;iy  
  

90. The following statement relate to the election of Indian President. Find out 
the wrong statement. 
a. He should be a citizen of India 
b. He is elected by members of two Houses of Parliament alone  
c. Should not hold any office of profit  
d. He is elected by the members of the electoral college  
e. Answer not known 
fPo;f;fhzg;gLk; thf;fpaq;fs; FbauR jiythpd; Njh;jy; Fwpj;jJ. ,jpy; vJ 
jtwhd thf;fpak; vd;W fz;Lgpbf;fTk;.  
a. mth; xU ,e;jpaf; Fbkfdhf ,Uj;jy; Ntz;Lk;.  
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b. ghuhSkd;wj;jpd; <uitfspd; cWg;gpdh;fshy; kl;Lk; Njh;e;njLf;fg;gLthh; 
c. vt;tpjkhd ,yhgfukhd njhopYk; ,y;yhik  
d. mtiu Njh;jy; fy;Y}hp (electoral college) Njh;T nra;fpwJ 
e. tpil njhpatpy;iy  

 
  

91. Which of the following is/are correct with reference to Moovalur 
Ramamirtham Ammaiyar (Ninaivu) Memorial Assistance Scheme? 
I. The Scheme was introduced in 1989 
II. The assistance is given to poor girls who have completed 10th std+2, 

Degree or Diploma 
III. The bride should have completed 18 years 
a. (I) and (II)    b. (I) only     c. (II) only  
d. (I), (II) and (III)   e. Answer not known 
%tY}h; ,uhkhkph;jk; mk;ikahh; jpUkz cjtpj; jpl;lk; njhlh;ghd gpd;tUk; 
$w;Wfspy; rhpahdJ vJ / vit?  
I. ,j;jpl;lk; 1989-y; Jtq;fg;gl;lJ.  
II. 10 kw;Wk; 12-k; tFg;G> gl;lk;> gl;lak; gbj;j Vio ngz;fSf;fhdJ  
III. kzkfs; 18 taij mile;jpUf;f Ntz;Lk;  
a. I kw;Wk; II    b. I kl;Lk;     c. II kl;Lk;  
c. I, II kw;Wk; III   e. tpil njhpatpy;iy 

 
92. When was the legislative council in Tamil Nadu abolished? 

a. 1985   b. 1986  c. 1987  d. 1988 
e. answer not known 
vg;nghOJ jkpo;ehl;by; rl;l Nkyit fiyf;fg;gl;lJ? 
a. 1985   b. 1986  c. 1987  d. 1988 
e. tpil njhpatpy;iy 
 

93. The model based on the Tamil Nadu Human Development Index 
a. United Nations Development Programme model  
b. World Bank Model 
c. Asian Development Bank Model  
d. Reserve Bank of India Model 
e. Answer not known 
jkpo;ehL kdpj Nkk;ghl;Lf; FwpaPl;il mbg;gilahff; nfhz;l khjphp  
a. If;fpa ehLfspd; tsh;r;rpj; jpl;l khjphp  
b. cyf tq;fpapd; khjphp  
c. Mrpa tsh;r;rp tq;fpapd; khjphp  
d. ghuj hprh;t; tq;fpapd; khjphp  
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e. tpil njhpatpy;iy 
 

94. The word “TRANSTAN” is associated with  
a. Speed of the train   b. Parcel Service   c. Rivers  
d. Organ donation and surgery e. Answer not known 
“TRANSTAN” vd;Dk; nrhy; ,jDld; njhlh;GilaJ  
a. ,uapypd; Ntfk;   b. ghh;ry; Nrit  
c. MWfs;    d. cly; cWg;G jhdk; kw;Wk; mWit rpfpf;ir  
e. tpil njhpatpy;iy  
 
 

95. __________is the scheme for the scavengers and their dependents to form self 
help groups and get loans with subsidies. 
a. Moovaloor Ramamirtham Ammaiyar Self Help Group 
b. Rajashri Self Help Group  
c. Subamathi Self Help Group 
d. Mother Teresa Self Help Group 
e. Answer not known 
Jg;GuT njhopyhsh;fs; kw;Wk; mth;fis rhh;e;jth;fs; Ra cjtpf; FOf;fs; 
mikj;J khdpaj;Jld; fld; trjp ngWk; jpl;lk; ___________ MFk;.  
a. %tY}h; uhkhkph;jk; mk;ikahh; Ra cjtpf;FO  
b. uh[= Ra cjtpf;FO  
c. Rgkjp Ra cjtpf;FO  
d. md;id njurh Ra cjtpf;FO  
e. tpil njhpatpy;iy  

 

 
96. 10 lakh candidates write the TNPSC Exam this year.  If each exam centre is 

allotted with 1000 candidates.  How many exam centres would be needed? 
a. 100  b. 1000 c. 10000 d. 100000 e.  Answer not known 
10 ,yl;rk; Njh;th;fs; ,t;thz;L TNPSC Njh;T vOJfpd;wdh;. xt;nthU 
Njh;T ikaj;jpYk; 1000 Njh;th;fs; Njh;T vOjpdhy; vj;jidj; Njh;T 
ikaq;fs; Njit?  
a. 100  b. 1000 c. 10000 d. 100000 e.  tpil njhpatpy;iy  

 
97. 2, 4, 12, 48, 240, ……... 

a. 960  b. 1440 c. 1080  d. 1920 e. Answer not known 
2, 4, 12, 48, 240, ……... 
a. 960  b. 1440 c. 1080  d. 1920 e. tpil njhpatpy;iy  

 



 

29 
 

98. In a theatre, there are 20 seats in the front row and 30 rows were allotted. 
Each successive row contains two additional seats then its front row. How 
many seats are there in the last row? 
a. 58 seats b. 78 seats  c. 98 seats  d. 108 seats e. Answer not known 
xU rpdpkh muq;fpd; Kjy; thpirapy; 20 ,Uf;iffSk; nkhj;j 30 
thpirfSk; cs;sd. mLj;jLj;j xt;nthU thpirapYk; mjw;F Ke;ija 
thpiria tpl ,uz;L ,Uf;iffs; $Ljyhf cs;sd. filrp thpirapy; 
vj;jid ,Uf;iffs; ,Uf;Fk;?  
a. 58 thpirfs;    b. 78 thpirfs;   c. 98 thpirfs;  
d. 108 thpirfs;   e. tpil njhpatpy;iy   

 
99. Find the difference between Simple Interest and Compound Interest for a 

sum of `8,000 lent at 10% per annum in 2years. 
a. ` 60  b. ` 70 c. ` 80 d. ` 90 e. Answer not known 
ì 8,000 -f;F 10% tl;b tPjk; vdpy; ,uz;L Mz;Lfspy; fpilf;Fk; $l;L 
tl;bf;Fk; jdp tl;bf;Fk; cs;s tpj;jpahrj;ijf; fhz;f.  
a. ` 60  b. ` 70 c. ` 80 d. ` 90 e. tpil njhpatpy;iy  

 

100. If 
3 4

,
5 7

a b

b c
= =  then a: b: c is  

a. 12: 20: 21  b. 12: 20: 35  c. 15: 28: 35  d. 28: 20: 12 
e. Answer not known 

3 4
,

5 7

a b

b c
= =

 
vdpy; a: b: c   vd;gJ  

a. 12: 20: 21  b. 12: 20: 35  c. 15: 28: 35  d. 28: 20: 12 
e.  tpil njhpatpy;iy  

 

 


